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Adults $5

us lickets

Anna bought 6 children’s
tickets. How much did she
spend?

$2 x6 =9%$12

Coach bought 9 children’s
tickets and 6 adult tickets.
How much did he spend?

$2 x 9 =$18
25 x 6 =330 $18
+$30
Total: $48

Maria had a party at the circus.
Her mother bought 4 adult
tickets and 5 children’s tickets.
How much did they spend?

B5x 4 =s20
Pz x 5 =$ [0

Add the numbers.
Total: $ 30

Mrs. Robles bought 5 adult tickets.
How much did she spend?

B5x 5 =% 25

Joe’s aunt bought the family
3 adult tickets and 7
children’s tickets.

How much did she spend?

P5x 3 =% /5
P2 x 7 =% 4
Add the numbers.

Total: $. 27

Betty spent $21 on circus tickets.

She spent $15 on adult tickets
How many adults were in her
group? How many children were
in the group?

$5x = =8%15 $21
Adults: > -$15
- Total: $6
$2x S5 =%6
Children: 3
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